United States Patents 8,151,858 8,307,876

' U.S. and Foreign Patents Pending
@@ w Tech Support 678-926-9700
__I — SCREENS FOR 9°H & 10°’H MODELS

THE MOST VERSATILE GARAGE SCREEN ON THE PLANET

Installation Manual - Owners Manual - Warranty

For Lifestyle Garage Screen Kits: 8°x9°, 9°x9°, 10°x9°, 12° x9°, 16°x9, 8’x10’°, 9°x10°, 10°x10°, 12°X10’, 16’x10°




WARNING: IMPORTANT SAFETY INFORMATION

Read all instructions and the following safety information carefully prior to installation and use. Failure to do so may result in serious injury or
death.

Do not install this product if your garage door operator is not equipped with photo-eye sensors, or if it cannot be adjusted so that the door
reverses direction when encountering an obstruction with the slightest amount of pressure. If your operator is not equipped with such safety
devices, the installer may require you to install a new operator before installing the Lifestyle garage screen. Failure to comply with these
directions may result in serious injury or death and or damage to your Lifestyle garage screen, garage door or other property.

Please refer to operator instruction manual for proper adjustment parameters. Do not exceed the operator manufacturer’s recommendations
for safe adjustment of the operator. Failure to do so may result in serious injury or death. Final adjustment of the operator must comply with
operator manufacturer’s recommendations. Failure to do so may result in serious injury or death.

Red fasteners on garage door systems are under tension. Do not remove or tamper with any fasteners, screws or bolts that are red in color.
Failure to do so may result in serious injury or death.

Moving the screen can cause serious injury or death. Keep people and pets clear of opening when operating the screen. An overhead screen is a
large heavy object that moves with the help of springs that are under high tension loads. Since moving objects and springs under high tension
can cause serious injuries, your safety and proper operation of the screen depend on you doing the following:

- Keep the screen in full view and free of obstruction when in operation;

- Do not allow children to operate the screen;

- Do not close or operate the screen if people or pets are in the door opening;

- Do not hang or place excessive downward force on the nylon closing straps;

- Do not stand on any object when operating the screen;

- Do not place fingers, hand or other body parts between the screen and the door jambs when operating the screen;

- Do not operate your garage door when the screen is in the closed vertical orientation;

- Do not tamper with or remove the photo eye blocker installed on the screen;

- Check the hardware on the screen at least monthly for worn or broken parts, adjustment and balance.

- Do not operate the screen with broken springs, cables or other parts;

- Repairs and adjustments of the screen should be performed exclusively by a trained professional.

Do not cover over or paint over any warning signs and decals.



Before Installing the Lifestyle Screens garage screen

The Lifestyle garage screen cannot be installed in combination with a low headroom garage door installation.

Check for clearances in the following situations: cabinets mounted on the side wall next to the garage door track; entry doors from the
home to the garage that open into the garage should clear several inches below the garage door tracks or away from the tracks, any side
doors next to the garage door should not interfere with the Lifestyle screen tracks.

Ensure that the garage door is completely out of the opening and secured from closing.

Disengage the garage door operator arm.

Raise the garage door well beyond the vertical opening and clamp with vise grips to hold the garage door in place.

Once the Lifestyle screen is installed, you may need to adjust the travel on the operator and/or the operator J-Bar may need to be cut
down and/or assembled in a different set of holes. This is to ensure that the operator arm does not hit the Lifestyle screen during
operation of the garage door.

TOOLS REQUIRED FOR ASSEMBLY

= Safety Glasses or Goggles

= **Cordless Drill with 5/16” and 7/32” Drill Bits (see notes below)
= 1/4 “ Hex Drive Bit

= Socket Sizes: 7/16”, 1/2”,9/16"

=  Wrench Sizes: 7/16”, 1/2”,9/16"

= 4"+ Socket Extension (optional)

=  Phillips Screw Driver

=  Hammer or Rubber Mallet

= Vise Grips or C-Clamps

=  Winding Bar for Torsion Spring

= 2’Length of 1” Schedule 40 Pipe or Scrap Torsion Bar
= Saw Horses

= Utility Knife

=  Spline Insertion Tool

= Tape Measure

=  Dry Silicone or Lithium Grease

Notes: ** Frame members are pre-drilled so references to drilling of the screen frame in the instructions may be redundant and may
be disregarded. Some drilling of the track members may be required.



Item

N o b WwWwN R

10
11
12
13

14
15
16

17
18
19
20
21
22
23
24
25
26
27
B-1
B-2
B-3

Qty.

R R R R NNN

BN R R R R

P R R R RPRRRPRRRLRNNOOOERLN

FRAME BOX
Item
Description # Qty.
Outer Frame Verticals w/weather strip 28 20
Inner Frame Verticals w/2 spline grooves 29 1
Frame Horizontals 30
Frame Header Horizontal 31 8
Torsion Tube 1"OD 32 16
Weather Strip (Pre-Installed on Frame) 33 2
Bottom Door Seal Astragal 34 2
35 4
SCREEN & RETRACTABLE BOX 36 2
GENIUS Milano Retractable Passage Door 37 4
Screen Material (2 bays) 38 4
Screen Material (header) 39 4
Spline 81'ft
Nylon Straps
Push Pole Assembly 40 16
41 20
TRACK BOX 42 6
Vertical Track 43 2
Horizontal Track 44 2
2' Length 1 1/4" Perforated Angle 45 2
HARDWARE BOX
Tight Radius Track Curve 46 2
PAIR Vertical Lift Drum 47 4
Jamb/Track Brackets 48 4
Cables 3/32" 7 X 7 X 342" (rolled together) 49 4
3/32” cable stops; assembled on cables 50 4
Bottom Wheel Bracket Assembly LH 51 2
Bottom Wheel Bracket Assembly RH 52A 1
Top Wheel Bracket Hinged Assembly LH 52B 1
Top Wheel Bracket Hinged Assembly RH 53 1

Warning Labels

KIT CONTENTS

Installation Manual - Owner's Manual

Frame Bag
Track Bag

9' & 10' Counterbalance Bag

FRAME BAG (in Hardware Box)

Description
Frame Assembly Screws 4"Long
Photo Eye Shield
2" Square Black End Plugs
Backer Plate
1/4-20 X 1 TEK
5/16 18x1 Hex Bolt
5/16 18 Hex Nut
2" Weather Strip
18 Ib Pull Force Magnets
#6-32 X 5/16 Pan Head Phillips
#6-32 Hex Nut
#6 Flat Washers

TRACK BAG (in Hardware Box)
1/4-20 X 5/8" Track Bolt
1/4-20 Serrated Flange Nut
5/16-18 X 1-5/8 Lag Bolt
1/4-20 X 1" Hex Head Bolt
1/4-20 X 1" Track Bolt
3" Sheave 1/4 Bore

9'&10' COUNTER BALANCE BAG (in Hardware Box)
flat end bearing plates
1/4” fender washers
5/16-18 flanged nuts
5/16-18x1" Hex bolt
1/4-20x5/8" track bolts
1 1/2” PVC bushings
R spring .192 x 2 x 22" Assembly (only up to 12'W)
R spring .177""x 2 x 22" Assembly (only 16'W)
L spring .177""x 2 x 22" Assembly (only 16'W)



Updated Parts

Bottom Wheel Brackets
Top Wheel Brackets :

W e bbby

~ Bearing Roller with Bushing

.\ A @

At s b IS
2 l.x, ) !

E-Clip & Cable Pin

il

Jamb Brackets

™= oo

Bottom Wheel Brackets assembled
with Roller and Cable Pin with E-clip

1
R Cronar T
A G (R




Trolley Manufacturer's stop bolt
ya 5
14

Y 12~ Up limit
'%_\ P ¥
: Drive bar e
4 Down limit
(A “>~Jdarm bolts @

J-Arm q‘\&_
Safety release

108 1/2” for 9'H Models
4 120 1/2” for 10’H Models

T
Jeol

—Cut here

j T
© |~ r

|

1. Adjust up-limit on garage door opener shown in (A) so that the trolley stops 1/2” before hitting the stop bolt. If '
you have achieved the clearance needed to accommodate the relevant screen height — see (D) above —
skip to step #4 below.
2. Remove the J-arm bolts sown in (A) and pull the safety release to disengage the trolley, slide the trolley for-
ward toward the door jamb until it is almost level and re-install bolts into the J-arm. This will shorten the J-arm
about 2.
Reset the down limit until the garage door seals to the floor
If the J-arm interferes with the screen door, cut the excess of the straight portion of the J-arm as shown in (B)
. Tie off the cord handle to the J-arm as shown in (C ).

ok w




tnnnqua

LEEN T YT n T

i
.

1. Open only the frame bag at this time.
2. Lower the garage door to take the load off of the primary tracks.

3. Remove the bolts that connect the primary tracks to the existing back hang, install 2’ Lifestyle perfo-
rated angle using existing bolt and the 5/16"’x 1"’ bolt found in the frame bag.




9°H AND 10°’H MODELS : FRAME ASSEMBLY FIGURES

LIFESTYLE SCREENS




Horizontal extrusions Vertical extrusions

1. Four saw-horses are highly recommended to assemble the Lifestyle frame

2. Arrange the extrusions as shown above.

3. Fasten together the center verticals, the horizontals and the header horizontal
using the 4” frame screws (20 pieces). Use a 1/4” magnetized nut driver.

4. Fasten the nylon straps with two of the 4” frame screws using the two outer
holes that are set to the back of the top horizontal frame.




4, Arrange the two vertical frame members so the pre-

installed weather stripping is on the outer edge and fac-
ing down. Insert the backer plates at each end of frame
members and attach wheel brackets using the %-
20x3/4”’flanged head bolts found in the frame bag. The
black plastic photo eye shield will slide between frame
and bracket before doing the final tightening.

5. Attach wheel brackets to the ends of the horizontal
frame members by inserting backer plate and fastening

with %-20x3/4 flange head bolts found in frame bag.

Before tightening make sure wheel brackets are flush
with the outside of frame —Top, bottom and side.




6. Flip frame over so spline grooves are facing upward

and apply the four 2"’ 3M weather seals flush with the
ends of the horizontals

7. Spray the t-slots at the bottom of the door lightly

with silicone spray and install the rubber astragal the en-
tire length. Cut astragal about an 1 %"’ long and force the
excess into the slots and then install 2" black end caps
at each end.




8. Assemble the magnets as shown above: Insert the

nut into the upper t- slot and slide the magnet to the
center of screen bay then tighten.

O. Insert 2” end plugs at the ends of top horizontal

using a hammer and attach striker plate to magnet be-
fore putting the Lifestyle door into opening.




10. Position the screen mesh so that it is flush with the 11. Trim the screen by dragging the tip of the utility knife on

bottom outer edge of frame and past the vertical by at outer edge of spline groove and applying medium pressure.
least 2”’,begin rolling the screen from right to left working Always use a sharp blade when trimming screen and be sure
in 6” intervals making sure the screen stays flush with the that you trim the edge to the outside of the screen bay.

frame (See 1 above). Pull the other end of screen toward Want to see more on screening?

the top of frame making sure the margin of the screen is

spline again from right to left working in 6” intervals (See 2 | |the screening made easy video or contact your sales rep.

above) and keeping the screen taut. Repeat these steps for We recommend strongly that you watch this video.
3 and 4 above. Rolling each from top to bottom in turn.




12. Center the screen frame between primary tracks
and fasten the striker plates using 1 1/2”” wood screw

found in frame bag .

13. Level the screen frame with the opening, making sure

you have the same margin across top. If frame is not level,
shim the low side as shown above.

The bottom seal will fill this area when shim is removed .

Note: this must be done before installing tracks




i
E
i ]
i
i
Knock-out _ I
14. open the track bag next and bolt track curve to the 15. Hang the track curve and vertical on the top
vertical track using 5/8” track bolts and 1/4” serrated wheel bracket and mark one hole at the top and one
nuts. Make sure the track knock- out hole is located at hole at the bottom this will ensure that there is no in-
the opposite end, that will be closest to the floor. Re- terference when installing the Lifestyle jamb brackets.
move the knock-out using a hammer and screwdriver. Note: if track curve doesn't hang on the wheel, the
vertical track should be trimmed at the bottom.




For 9°’H and 10°’H
Models bolt the
third jamb bracket
in the middle holes
of the 9°’H and
10°H vertical track.

16. Bolt the 3 jamb brackets loosely to
vertical track using the 5/8” track bolt
and 1/4” serrated nuts found in the track
bag.

NOTE: Hand tighten the bolts for the mo-
ment.

For 9’H and 10’H screens there are 3
jamb brackets for each vertical track.

17. Slide the track on to the wheels, make sure the
jamb brackets are touching against the primary track.
Fasten top jamb bracket to the jamb using the 1-1/2”
lag bolts found in the track bag. Slide the track curve
up against the primary track and tighten top track bolt.
Most Important: For bottom jamb bracket slide the
screen frame towards the jamb until the black weather
strip just touches the jamb and tighten the bottom
track bolt.

Now tighten the track bolt for the middle jamb bracket.




18. Arrange the horizontal tracks so they are opposite
pairs. Bolt the 3" sheaves with the 1/4”’ bore to the hori-
zontal tracks using the 1” track bolts and 1/4” flange
nuts found in track bag. Make sure the 3”sheave are
mounted in the holes that are positioned 17" from the

end of track.

Install 1/4"’x 3/4” stop bolts toward the inside of track
making sure the long portion of bolt and nut are inside

of track.

19. Bolt the horizontal track to the track curve and the

Lifestyle perforated angle using the 5/8” track bolts and
1/4” serrated flange nuts. Cut excess perforated angle flush
with the bottom of horizontal.

Note: The distance between the primary track and the

Lifestyle track will vary due the different types of j-arms, so
it is best to trim the excess perforated angle off the back
hang after you have verified sufficient clearances.




OVERVIEW OF THE TORSION SPRING COUNTER-BALANCE SYSTEM
OF THE 9°H AND 10°H MODELS

12’ wide doors and under will require only 1 torsion spring as shown 16’ wide doors will require 2torsion springs as shown in Fig-2
in Fig-1.
The sprifigs anc cable:drumswill be-marked with ied and biackipalnt. The springs and cable drums will be marked with red and black paint.

Red- meaning right side. Red- meaning right side.

Blask=meaningleltslde Black— meaning left side




““*«Z‘Q\ ¥
B e, /;’:I
\\ .. ~ /;:'::;/
\\%\ //
~ m\ B /:: f}""
\\\\ it
\._\ . ottt

Always install bearing plates using the last set of holes supplied on horizontal
tracks as shown in Fig-1

1.Install bearing plates using 1/4-20x 5/8 track bolts, 1/4” flanged nuts and 1/4”
fender washers.

2.When installing bearing plates make sure the larger portion of bearings are facing
inward as shown in Fig-2

Fig 2




2.Fasten the stationary cone to the right hand bearing plate
using 2 -5/16 x 1”” hex bolts and 2—5/16" flanged nuts

1. Slide the torsion spring onto torsion tube 6" and hand tight bolts on the
winding cone so spring doesn’t slide while inserting torsion tube into the
bearing plates.

This measurement should be a minimum of 5- 3/4”.




Figl

1.Remove the inner e-clip from cable pins and insert cable pin into bottom
bracket as shown in Fig -1 .Make sure cable pin can rotate freely.

2.Lubricate cable pin with silicone or a lithium grease as shown in Fig-2.




(= <r oy L

2.Hook cable to the cable drum making sure the red cable
drum is used on the right side and the black cable drum is used
for the left side. Slide the 1" bushing on the torsion tube and
then cable drum and tighten as shown above. Make sure tor-
sion tube sticks out past cable drum by 1”

1. Route the cable from cable pin over 1-1/2”pulley mounted on
tight radius and then over the 3” pulley mounted on horizontal
track as shown above.

3.Clamp vise grips on to the 1”” portion of torsion tube at a 90
degree then slide a 24" piece of pipe on to vise grips. This will

hold the cable tight while installing the opposite side.




Torsion Spring Chart

1.Loosen the bolts on the winding cone that were hand tighten earlier.
2.Use the torsion spring chart to determine the amount of turns needed for your door.

3.Insert 1/2” winding bar or bars and rotate in the direction as shown above. Note: For 16’
models the 2nd spring should be wound in the same direction.

4.0nce the desired turns are reached tighten both set bolts on winding cone before remov-
ing the winding bar.

16’ x 10’ 2- springs 8-turns
16’'x 9 2— springs 7 1/2 -turns
12’x 10’ 1- spring 8-turns
12'x9’ 1- spring 7 1/2- turns
10’ x 10’ 1-spring 8 -turns
10'x 9’ 1-spring 7 1/2-turns




RETRACTABLE SCREEN DOOR INSTALLATION INSTRUCTIONS

Panhead
Screw

Screen Cassette Assembly

Mount Clip
e 3
Panhead

Screw

Mount Clip

-

T

Panhead
Screw

/_/

1 MOUNTING

The Screen Cassette Assembly will be mounted using Mount Clips inside th

aluminum door frame in the center of the garage screen ™

Magnetic Latch Screen Cassette Assembly

Hollow Aluminum
Door Frame

From the outside looking in, ALWAYS mount the Screen Cassette
Assembly on the right hand vertical frame stud and with the
rounded side of the Screen Cassette facing towards the outside.

INSTALLING THE CASSETTE

Using Panhead Screws, install the Mount Clips 10” from the top and
bottom of the door opening, and one in the center [2.1]. Fasten the Screen
Cassette Assembly onto the Mount Clips [2.2].

Door Frame
Insert into clip
flange here =™ -e— Snap into clip
notch here
Cassette
Assembly
VIEW FROM

ABOVE

RETRACTABLE SCREEN DOOR iNSTRUCTIONS » PART NUMBER : 50-00119-0-0 « V.05.15.11

Top Guide Rail

Screen Cassette Assembly

Bottom Guide Rail

POSITIONING THE RAILS
Slide the Top and Bottom Guide Rails fully onto the tabs on the top and bot-
tom of the Screen Cassette Assembly [3.1].

NOTE: The Top & Bottom Rail both have a decorative trim groove
on one side. This groove should always face outward.

[

Aluminum
Door Frame

Magnet

Top Guide Rail

Bottom Guide Rail

POSITION SIDE RAIL WITH MAGNET AND SECURE
ALL RAILS WITH SCREWS

Angle the Side Rail with Magnet behind and over the Top and Bottom
Guide Rail, so that both are positioned inside the flanges of the Side Rail
[4.1].

Secure the Bottom Guide Rail, Top GuiJe Rail and Side Rail with Magnet
with three Panhead Screws each. Position screws 6 inches (150mmy in from
each end and center the middle one [4.2].

When installing the Bottom and Top Guide Rail, use the convenient Pile
Opener included with this kit, to temporarily separate the two insect piles.
This will make for easier viewing and installation of the screws.




A
% '5' [-1——1-]
"l
L
I".I | 'QE
=y,

Rivet

Clip-on sensor

~

Jamb mount sensor

26. Remove the clip-on sensor from the primary track.
Drill the rivets on sensor with a 1/4” drill bit and remove
the clip portions. Bolt the sensor on to the Lifestyle track
using a 1/4” x 5/8” track bolt and 1/4” serrated nut

found in counter balance bag.

26. Remove the screws holding the sensor to the jamb.

Reposition the sensor so the eye of the sensor is lined
up with the knock out hole on the Lifestyle track and re-

install screws .




Required Decal Placement ¢ Colocacin De Calcomandas Necesaria

graves voiro des décés slon
fes manipulo,

N'gnfovaz PAS et NE
monipuloz PAB los écrous,
lon vis obs log boulans qul sont
do 0.

Los répamtons of fes
ajustamonts doivant Stro
effeciuds pas un rasponsable
d'ontrolien fonnd avac les
olifla ot fos Inatructions.

N'ENLEVEZ PAS, NE
Z PAS,

"
HENOUES PhS ¢
ETOUETTE OE PEATURE.

Lus abrazaderas Infotioras
do In puaita flanen ALTA
TENBION DE RESORTE y
pueden provocar lasionas
§inves o la muorto si so las
NO rolire nt toqua ningin
wlnlsdur. tornlilo ol permo
lor 10jo.
una peraona do
manlenimlento capacitada
dobe realizar Ins
repaiaciones o los sjusles
utiitzando las herramlontas
adotundas y algulendo las
Instrucclonos que
correspondan.
NO RETIRE, CUBRA NI
PINTE ESTA ETIQUETA,

Botlom door biackots are
uinder HIGH SPRING
TENSBION vnd can cause
savor injury or death if
tampermd with,

DO NOT ramove or famper
with any fastenars, scraws
or bolts which aro red In
cafor,

Repairs or adjustments
must bo mado by o tralned
Earvice person using proper
tools and Inshuctions,

DO NOT REMOVE, COVER
OR PAINT QVER THIS
LABEL,

Placement Obligatoire Des Etiquettes
:uwwh m'du MI)\II I-Ivgn'hal ubhdumml
‘?,,ué"‘"“”'“’f‘ s Wi "u-wvu:m
oG, L e RN o undoc ol .
DG oy e v :4-mmma.-m.m Vo o o opengs
Iomon po-tecat el oy mm‘ W Undad Bavishon e
Sl e e okian ot by infeles v dent, Your
sruncband L et it ‘"h"uﬂm'“m;?u}u"- Balaty, thn vaety of omecs e
Einpeiabua Ch) B Bt e ooyt tascnol e
¥ lll!:h\vhl mnmumm o door depent on you
e detriiate o g o Kl
:‘,ﬂ;’""wﬂ*“""“' e 1o KeatIow doo b 4 v
i Lomiatamatn 3l veiay mies ooy
i dn chstarekones hiba opacating,
1 Naguraset o b e v
;\l;(h&hh » 2 MMRMNWMN
2 Hogesmtu o b et
3 bty ps ot gus Pt -oodrig
poria ] ved oo - » wmmuhlbtmﬂ
mm,',.-"" e 1 moei
4 ;mv 1 ”"(x::m'u%“ :H‘i:lmn:hl d."lml 7
3 """'""‘iﬁ‘.‘x‘ i o 4. Vomilr umw
SRR | | g | |* S
i M i 1ot Faconv e3a0 oa dosing y¥um.
.l moedss patyn 8 o v 5. Do olatnt oa am
b irrais oo e A ettt d oo
n Ha o, e
himamOk | | e i
EEn g | | e WATCH ]
fric ity S by o) Hanty dred otxy by pata f
ey rentalentaey "“"‘”"'ﬁ mmmmmw YOUR
3 e rati ""“"‘"“ it | STEP 1
. Hopérez pas vole porta i
. 1 vt gms e |
R i oo “*Wﬂm.u ol v tha creen doce MIRE POR i
Tarmda o (e ot b Ceirnuth i, hpacksed estnc s A "
ki dota Eorte o garane Brcies i, s Clharvitn siniiieg s ‘DONDE t
dune ourrm tgons qualcecire. T patia &g gaimo desi's bavel. T‘
B ertevee oot o0 & Ny et CAMINA
bt forftn e i biyilgatanion | 10 0o rttemersortar | AN
preisskondatymue sk aprotrevigdng. s Waine phola eyn thnM T
ge modrny, e dalginp fnlated on U screen doce, ‘FAITES Neo
EBimplialicinds P sy gt ey i E
B ey e e donthamcsrutenibn o ATTENTION A i CAMINA
, bt S LA MARCHE
1o Lortprsant
ity
Fonpou sok o it o Chouaseradon FAITHS
e e ki o it pos e AL ATTENTION A
Ve o4 b Sa et Ls Vietana tebs e antolnca, The LA MARGHE
10 24 ik 1ot da o ek tn v shau oo it han
i (eara st b0 o e £ bty moved wvd ehereperts
G gon e dix Airrta o s 100 st il
il 200 parcorms. Hipieor Whak ooy oy
mfn lex ou armens; N e uavel
iencibis sondcante. 14 Drspuevms do cport e doce with
0 Lttt m"%'ﬂ:ﬁmwmm brodensprigrer eablut
AL el T o Bt omt ottt
Syt e el Pl d Lenbnrutscn v
£ sl akxcions i ‘ompar lecls axd
KRB PAR vt coumes ek i
'gm NonenmA cusRAERTE
,,,"',’.‘,’,".",',",b i DOKDI RewoVE, Caven on
PAIE OVER THIY LARES




FINAL CHECKS:
Ensure that all nuts and bolts are completely tightened and securely fastened. Ensure that warning decals are properly placed on the Lifestyle screen frame.

For seamless operation, there should be approximately 1” of sideways play in the Lifestyle garage screen frame when it is in the horizontal stored position.
When the magnet catch is disengaged from the striker plates on the garage door jamb, the bottom horizontal of Lifestyle screen should automatically rise
approximately halfway up the Lifestyle vertical track. If this does not occur, you may have to adjust the spring stretch to achieve this result.

The Milano retractable passage door should move freely from the closed position with the magnets engaged to the open position, complete coiled in the
screen canister. If the passage door does not retract fully you may need to ensure that there are the correct number of winds on the screen mandrill. For the
7'H screens, there should be 12 winds on the mandrill and for 8’H screens there should be 14 winds on the mandrill. A video instruction on how to make these
adjustments can be found at http://www.geniusscreens.com/videos/.

Adjust operator’s photo sensors so that beam projects through the gap between the garage door track and the Lifestyle garage screen tracks. There is a
knockout slug in the Lifestyle screen track that can be struck from the inside of the track to allow the beam to project through the track. Typically, the distance
from the floor to the centerline of the beam is to be no more than 6” from the garage floor. Refer to the operator’s instruction manual for correct vertical
placement of the photo eyes. Ensure photo eye brackets are secured to prevent accidental dislodging. Operator will not function properly if beam is
interrupted.

Check the permanent garage door to make sure it is operating as it should. Check to see if the operator arm needs to be adjusted back into a different position.
If this needs to be done, the straight protruding portion of the straight portion of the operator arm that protrudes beyond the curved portion may need to be
cut to avoid hitting the screen door or rubbing/ripping the screen material. You will also need to verify that your operator is adjusted properly to pull the
garage door up and out of the opening so that the screen door will close securely against the garage opening header. Important: Please refer to operator
instruction manual for proper adjustment parameters. Do not exceed the operator manufacturer’s recommendations for safe adjustment of the operator.

Adjusting the limit settings of the operator: Check the limit settings. Start the operator by pushing the standard wall push button or remote button. Be
prepared to activate the button again quickly — per operator’s installation/operation manual — or if you see that the door is going to over travel. Adjust the up
travel limit so that the door comes to rest 3-4” (7-11 cm) beyond where it normally would without an operator. This is the starting point for the upward travel
adjustments. Proceed to adjust the downward travel so that the door closes firmly without putting undue stress to the operator arm.

For operators equipped with safety strips or automatic reversal systems, it may be required to adjust the settings to ensure that the garage door will reverse if
it were to make contact with the screen door without damaging either door. Final adjustment of the operator must comply with operator manufacturer’s
recommendations. Failure to do so may result in serious injury or death.

WARNING: IMPROPER ADJUSTMENT OF THE FORCE SENSITIVITY SYSTEM COULD CAUSE ENTRAPMENT, INJURY OR DEATH. SET ADJUSTMENTS FOR ENOUGH
FORCE TO OPERATE DOOR RELIABLY, BUT NO STRONGER. CONTACT A SERVICE PROFESSIONAL TO CORECT ANY BINDING, STICKING OR OTHER GARAGE
DOOR PROB LEMS. DO NOT OVER-ADJUST SENSITIVITY SYSTEM TO COMOPENSATE FOR A POORLY WORKING GARAGE DOOR.



MAINTENANCE AND CARE FOR YOUR LIFESTYLE SCREEN

Your Lifestyle garage screen is a sturdy, durable and easy to use product. However, for optimum performance over the long run it is
recommended that periodic maintenance as described below be performed.

- Use dry silicone spray to lube various points: rollers, top and bottom track of the center retractable passage door and the center bolt of
the black pulley on the tight radius track curve. Avoid spraying any type of lube on the cable and pulleys.

- Before raising your Lifestyle garage screen from the vertical closed position to the horizontal open position it is recommended that you
open the center retractable passage door into the screen canister.

- Always store your Lifestyle garage screen with the center retractable passage door in the rolled-up open position.

- To keep the screen mesh material clean use only a mild detergent with a sponge and hose down with water.

OPTIONAL FEATURES AVAILABLE FOR YOUR LIFESTYLE GARAGE SCREEN

Your Lifestyle garage screen comes with the following optional features:
- Locks for the center retractable passage door
- Pet blocker for use with the center retractable passage door to impede pets from passing under the loose bottom end of the mesh



LIMITED LIFETIME WARRANTY

Advanced Screenworks, LLC (“ASW” or “we”) warrants to the original consumer purchaser (“you” or “your”) that each new Lifestyle Screens product (the “Product”) will be free

from defects in material and workmanship for the entire period of time that you own the Product from the date of purchase. The start of the warranty period is the documented
date of your purchase of the Product. The warranty herein is made solely to and for your benefit and is non-transferable. The warranty period on a repaired or replaced Product
is the remainder of the warranty on the original purchased Product or 30 days, whichever is longer.

The warranty is solely limited to parts. ASW does not warranty the workmanship of the professional installer.

If you discover a defect in material during the warranty period and ASW agrees that the defect exists, ASW will, at its sole option provide you, at no cost to you, with
replacement parts for the defective parts. ASW may require proper proof of purchase documentation prior to issuing you a replacement part or Product. We recommend that
you visit the Lifestyle Screen website warranty registration page, http://www.LifestyleScreens.com/warranty-registration.html to register your Product or fill in the information
required on the accompanying registration form and mail to Advanced Screenworks, LLC, Warranty Registration, 955 Patrick Industrial Ct., Winder GA 30680 or e-mail to
warranty@advancedscreenworks.com.

To request warranty part replacement, please contact us at (678) 926-9700 or e-mail fax@advancedscreenworks.com

This warranty does not cover any of the following items or conditions:

Abuse, unreasonable use, improper use, mistreatment or neglect;

Modification of the original product to achieve functionality other than the intended use;

Installation performed improperly or by an unauthorized party;

Ordinary wear and tear including, without limitation, discoloration due to the elements and/or UV radiation;
Damage or wear to the screen mesh or screen material;

Damage caused by or to the equipment with which the Product is used;

Damage caused by improper or faulty building construction or maintenance;

Any damage caused during installation, maintenance, repair, replacement or removal;

Damage caused by modification or repair not made or authorized by ASW; and

Services provided by third-parties other than ASW including, without limitation, service calls, shipping and labor costs.

VVVVYVYVVYVYVYVYY

THIS WARRANTY, TOGETHER WITH THE REMEDIES SET FORTH ABOVE, IS EXCLUSIVE, NON-TRANSFERABLE AND IN LIEU OF ALL OTHERS, WHETHER ORAL OR WRITTEN,
EXPRESSED OR IMPLIED. ASW SPECIFICALLY DISCLAIMS ANY AND ALL IMPLIED WARRANTIES AS TO THE PRODUCT. IN PARTICULAR, BUT WITHOUT LIMITATION, ASW
SPECIFICALLY DISCLAIMS ANY AND ALL IMPLIED WARRANTIES AND CONDITIONS OF SATISFACTORY QUALITY, MERCHANTABILITY, FITNESS FOR ANY PARTICULAR PURPOSE OR
ANY OTHER WARRANTY ARISING FROM A COURSE OF DEALING OR USAGE OF TRADE.

No ASW distributor, reseller, dealer, agent or employee is authorized to make any modification, extension, or addition to this warranty.
ASW is not responsible for special, incidental, indirect, exemplary, punitive, or consequential damages however caused and whether or not ASW was advised of the possibility of
such damages, including but not limited to lost wages, lost profits, downtime, pain and suffering or damage to or replacement of equipment and property and any costs of

recovery.

This warranty gives you specific legal rights. You may also have other rights which vary from state to state. Some jurisdictions do not allow the exclusion or limitation of
incidental or consequential damages or exclusions of implied warranties, so the above limitations or exclusions may not apply to you.


mailto:warranty@advancedscreenworks.com
mailto:fax@advancedscreenworks.com

LIFESTYLE SCREENS
WARRANTY REGISTRATION

Lifestyle Screens by Advanced Screenworks, LLC recommends that you register your Lifestyle Screens product. You can do this online or by mail.

Online Registration:

MAIL TO:

YOUR NAME:

YOUR ADDRESS:

YOUR CITY, STATE, ZIP:
Your Telephone:

Your E-mail Address:
Date Purchased:
Installing Dealer:
Dealer Telephone:

Screen Size: (circle one):

Frame Color: (circle one):
Screen Type: (circle one):

Other Comments:

LifestyleScreens.com/Warranty-Registration.html

Advanced Screenworks, LLC
Warranty Registration

955 Patrick Industrial Ct.
Winder, GA 30680

or e-mail to: Warranty@AdvancedScreenworks.com

6'x7’ 8'x7’ 9'x7’ 10'x77  16'x7" 18'x7"  8'x8’ 9’'x8’ 10'x8"  16'x8’
8’'x9’ 9’x9’ 10'x9” 12'x9° 16'x9° 8'x10° 9'x10° 10'x10° 12'x10’

White  Brownstone Sandstone

Standard White Privacy Black Superscreen

18'x8’
16'x10’

Other


mailto:Warranty@AdvancedScreenworks.com



